iR FIUETHEF - @R FEesR—8

2023(F#05)FE il AR

EEH |ExhEAM mEEM | TEH 28 [#igaK
Il -0.5 -0.8 0.1 -0.2 -0.3 75
BRI -15 -2.4 -1.7 12
BARTH -1.4 -1.7 -1.6 8
HHT -1.6 -2.6 -3.0 5
s -2.3 -1.0 -1.7 4
Hilth -0.7 -1.2 -0.8 6
Em -1.3 -15 -1.4 5
oJlh -1.3 -1.4 -1.4 13
F=1aikit] —0.9 -1.0 -0.9 4
gt -1.0 -0.8 —0.7 —0.2 -0.8 132
FERER M DS EHT -2.4 -2.2 -2.3 3
{FERER AL EE LLI BT -1.4 -3.4 -2.1 3
FERAR = Er BT -2.3 -2.3 2
A HERZ X -2.3 -3.3 -2.6 3
EHEEH)IIE -0.7 -1.3 -0.9 3
H S A8 /EHT -2.1 -3.0 -2.4 3
EFSEETE ) -2.9 -15 -2.4 3
HS A A AET -1.3 -1.7 -1.4 3
EEXE =R -0.9 -1.6 1.2 5
FEZEE = HET 0.9 -1.0 —0.1 2
FAEER I SAH -2.3 -3.0 -25 3
HEEARANES BT -1.3 -1.8 -1.4 3
HEE A AHET -2.3 -2.3 2
EEE FEF Y] -1.4 -35 -1.9 4
BT AT -1.7 -2.2 -1.8 42
EN N -1.2 -0.8 -1.0 0.6 -1.1 174




2022(RA) {23 7~

EEH |EhEAM BEEM | TEH 28 [#igaK
eI —0.7 -0.8 -0.3 -0.6 —0.6 78
BWwE™ -1.7 -25 -1.9 12
BARTH -1.4 -1.4 -1.4 8
HHT -2.3 -2.4 -2.3 5
#hh -2.3 -1.1 -1.8 5
Hilth -0.6 -1.1 -0.7 6
Em -15 -1.6 -15 5
oJlh -1.3 -15 -1.4 13
F=1aikit] -0.8 -1.3 -1.0 4
gt —1.1 -0.8 -0.8 —0.6 -1.0 136
{FERER A D HEHT -2.0 -1.8 -1.9 3
{FERER AL EE LLI BT -1.4 -3.3 -2.0 3
FERAR = Er BT -2.2 -2.2 2
A HERZ X -2.7 -3.5 -3.0 3
EHEEH)IIE -25 -1.5 -2.0 2
HSARE/EHT -2.5 -3.2 -2.7 3
EFSEEEE ) -3.1 -1.9 -2.7 3
HS A A AET -1.6 -1.9 -1.7 3
EEXE =R -0.9 -1.8 -1.3 5
FEZEE = HET 0.5 -1.0 0.0 3
FAEER I SAH -2.6 -2.9 -2.7 3
HEEERANES BT -1.3 -2.4 -1.6 3
HEE A AHET -2.3 -2.3 2
EEE FEF Y] -15 -3.9 -2.1 4
BT AT -1.8 -2.4 -2 42
EN N -1.3 -0.8 -1.2 0.6 -1.2 178




2021(R3)Hh{fi 23 7~

EEH |EhEAM BEEM | TEH 28 [#igaK
Il -0.8 -0.8 —0.1 -0.9 -0.6 79
BWwE™ -1.9 -2.8 -2.1 12
BARTH -1.5 -1.5 -1.5 8
HHT -2.5 -2.6 -2.5 5
A -2.7 -0.3 -2.1 4
Hilth -0.6 -1.0 -0.7 6
Em -1.4 -1.2 -1.3 5
oJlh -15 -1.7 -1.6 13
F=1aikit] —1.1 -1.6 -1.3 3
gt -1.2 -0.8 -0.8 -0.9 -1.0 135
{FERER A D HEHT -1.8 -1.8 -1.8 3
{FERER AL EE LLI BT -1.3 -1.3 2
FERAR = Er BT -2.2 -2.2 2
A HERZ X -2.9 -3.9 -3.2 3
EHEEH)IIE -1.6 -1.6 3
HSARE/EHT -2.5 -3.4 -2.8 3
EFSEEEE ) -35 -1.8 -2.9 3
HS A A AET -1.7 -1.8 -1.7 3
EEXE =R -0.9 -1.9 -1.3 5
FEZEE = HET 0.6 -1.0 0.1 3
FAEER I SAH -2.2 -2.8 -2.4 3
HEEERANES BT -1.2 -1.9 -1.4 3
HEE A AHET -2.0 -2.0 2
EEE FEF Y] -1.7 —4.1 -2.3 4
BT AT -1.7 -2.4 -1.9 41
EN N -1.3 -0.8 -1.1 -0.9 -1.2 176




2020(R2)#h{ifi 23 7~

EEH |EhEAM BEEM | TEH 28 [#igaK
eI —0.6 0.3 -0.9 -0.3 75
BWwE™ -1.8 -25 -2.0 12
BARTH -1.4 -1.6 -1.5 8
HHT -2.4 -2.5 -2.4 5
#hh -2.8 -1.4 -25 4
Hilth -0.2 -0.9 -0.4 6
Em -1.4 -1.3 -1.3 5
oJlh -1.4 -2.0 -1.6 13
F=1aikit] -1.2 0.0 -0.8 3
gt —1.1 -0.5 -0.9 -0.9 131
FERER M DS EHT -1.8 -2.1 -1.9 3
{FERER AL EE LLI BT -1.3 -3.1 -1.9 3
FERAR = Er BT -2.2 -2.2 2
A HERZ X -2.9 -3.7 -3.1 3
EHEEH)IIE -1.5 -3.0 -2.0 3
H S A8 /EHT -2.4 -3.3 -2.7 3
EFSEEEE ) -3.6 -1.8 -3.0 3
HS A A AET -15 -1.8 -1.6 3
EEXE =R -0.5 -1.2 -0.8 5
FEZEE = HET 1.2 -1.0 0.5 3
FAEER I SAH -1.8 -2.1 -20 2
HEEERANES BT -1.2 -2.1 -15 3
HEE A AHET -2.2 -2.2 2
EEE FEF Y] -1.7 -3.1 -2.0 4
BT AT -1.6 -2.3 -1.8 42
EN N -1.2 -0.9 -0.9 -1.1 173




2019(H3 13 fffi 43 7=

EEH |EhEAM BEEM | TEH 28 [#igaK
BTG —0.7 0.0 0.3 -1.1 -0.4 79
riealiil -2.0 -25 -2.1 11
BA™H -1.6 -2.2 -1.8 7
HHT -2.5 -2.6 -2.5 5
#hh -3.3 -3.2 -3.3 5
B3O -0.1 -1.1 -0.4 6
mEh -1.7 -1.4 -1.6 5
oJlh -1.9 -2.3 -2.0 13
F=1aikit] -1.2 0.0 -0.8 3
gt -1.2 0.0 —0.7 -1.1 -1.0 134
FERER M DS EHT -1.9 -2.3 -2.0 3
{FERER AL EE LLI BT -1.3 -3.7 -2.1 3
FERAR = Er BT -2.1 -2.1 1
A HERZ X -2.9 -3.8 -3.2 3
EHEEH)IIE -1.7 -2.9 -2.1 3
HSARE/EHT -2.5 -2.9 -2.6 3
EFSEEEE ) -3.6 -1.8 -3.0 3
HS A A AET -1.6 -2.0 -1.7 3
EEXE =R -0.4 -1.2 -0.7 5
FEZEE = HET 1.1 -1.2 0.3 3
FAEER I SAH -1.7 -2.3 -1.9 3
HEEERANES BT -1.4 -3.2 -2.0 3
HEE A AHET -2.4 -2.4 2
EEE FEF Y] -1.7 -3.3 -2.1 4
BT AT -1.6 -2.4 -1.9 42
EN N -1.3 0.0 -1.1 -1.1 -1.2 176




2018(H30)ih {4 7=

EEH |EhEAM BEEM | TEH 28 [#igaK
Il -0.9 —0.7 0.2 -1.4 -0.5 79
BWwE™ -2.0 -2.2 -2.0 12
BARTH -1.7 -2.1 -1.9 8
HHT -2.7 -3.4 -2.9 4
AT -3.3 -2.8 -3.1 5
Hilth -0.2 -1.3 -0.5 6
Em -2.1 -1.4 -1.8 5
oJlh -2.1 -2.6 -2.2 13
F=1aikit] -1.6 0.0 -1.1 3
sk Et -1.3 —0.7 —0.7 -1.4 —1.1 135
FERER M DS EHT -2.0 -25 -2.2 3
{FERER AL EE LLI BT -2.2 -4.2 -2.8 3
FERAR = Er BT -2.3 -2.3 2
A HERZ X -3.4 -3.7 -35 3
EHEEH)IIE -1.6 -2.8 -2.0 3
HSARE/EHT -2.9 -3.1 -2.9 3
EFSEEEE ) -4.2 -1.7 -3.3 3
HS A A AET -2.0 2.4 -2.1 3
EEXE =R -0.8 -1.4 -1.0 5
FEZEE = HET 1.2 -1.4 0.3 3
FAE ER I SAHHT -1.8 -1.8 2
HEEERANES BT -1.7 -3.9 -2.4 3
HEE A AHET -2.9 -2.9 2
EEE FEF Y] -1.8 -3.4 -2.2 4
BT AT -2.0 2.7 -2.2 42
£IBEt -15 -0.7 -1.1 -1.4 -1.4 177




2017(H29)ih {43 7=

EEH |EhEAM BEEM | TEH 28 [#igaK
eI -1.0 0.3 -2.3 —0.6 74
BWwE™ -2.3 -2.1 -2.2 12
BA™H -1.9 -2.0 -1.9 8
HHT -3.1 -3.3 -3.2 5
#hh -4.4 -3.0 -3.8 5
Hilth 0.7 -2.2 -0.3 6
= -2.4 -1.5 -2.0 5
oJlh -24 -3.0 -2.7 13
=T -1.3 0.1 -0.8 3
sk Et -15 -0.9 -2.3 -1.3 131
FERER M DS EHT -2.3 -3.0 -25 3
{FERER AL EE LLI BT -2.3 -4.3 -3.0 3
FERAR = Er BT -2.6 -2.6 2
A HERZ X -3.9 -4.3 -4.0 3
EHEEH)IIE -1.8 -2.9 -2.2 3
HSARE/EHT -3.7 -3.9 -3.7 3
EFSEEEE ) -4.4 2.4 -3.7 3
HS A A AET -2.7 -2.7 2.7 3
EEXE =R —1.1 -2.1 -15 5
FEZEE = HET 1.0 -2.1 0.0 3
FAEER I SAH -2.7 -3.0 -2.8 3
HEEERANES BT -2.1 -4.2 -2.8 3
HEE A AHET -3.3 -3.3 2
EEE FEF Y] -3.7 -3.8 -3.7 3
BT AT -25 -3.1 -2.7 42
EN N -1.8 -1.4 -2.8 -1.6 173




2016(H28)ih {4\ 7=

EEH |EhEAM BEEM | TEH 28 [#igaK
eI -1.2 0.6 -2.8 —0.6 74
BWwE™ -2.5 -2.0 -2.4 11
BA™H -2.3 -2.3 -2.3 8
ABT -3.3 —4.1 -3.6 5
#hh -4.6 -3.3 -4.0 5
Hilth 15 -2.6 0.1 6
o= -2.6 -1.6 -2.4 4
oJlh -2.8 -35 -3.0 13
F=1aikit] -15 0.7 —0.7 3
sk Et -1.7 -0.8 -2.8 -1.4 129
{FERER A D HEHT -2.3 -3.1 -2.6 3
{FERER AL EE LLI BT -25 —4.1 -3.0 3
FERAR = Er BT -2.6 -2.6 2
A HERZ X -4.2 -4.7 -4.4 3
EHEEH)IIE -1.8 -3.1 -2.2 3
H S A8 /EHT -3.9 -4.2 -4.0 3
EFSEEEE ) -4.6 -2.6 -3.9 3
HS A A AET -2.9 -2.9 -2.9 3
EEXE =R -2.0 -15 -1.9 4
FEZEE = HET 0.9 -2.7 -0.3 3
FAEER I SAH -2.9 -3.2 -3.0 3
HEEERANES BT -1.8 -4.4 -2.6 3
HEE A AHET -3.9 -3.9 2
EEE FEF Y] -4.0 —4.1 -4.0 3
BT AT 2.7 -3.4 -2.9 41
EN N -2.0 -1.3 -2.8 -1.8 170




2015(H27)Hh {4\ 7=

EEH [EhREAH PEER | TEH | 24K
Il -2.0 0.0 -5.4 -1.4
BmrEath -3.0 -24 -2.8
BA™H -2.8 -3.2 -2.9
AHT -3.9 -4.2 -4.0
A -5.6 —4.1 -5.0
B3O 1.9 -4.4 0.2
= -45 -4.6 -4.6
oJlh -3.2 -3.3 -3.2
aHH 1.2 0.0 0.8
ik Et -2.3 -15 -5.4 -2.1
FERER M DS EHT -2.6 -3.3 -2.8
{FERER AL EE LLI BT -3.1 -5.6 -3.9
FERAR = Er BT -3.8 -3.8
A HERZ X -4.8 -5.9 -5.1
EHEEH)IIE -1.9 -3.9 -25
HSAREEHT -4.3 -5.1 -4.6
HS A AT -4.8 -4.7 -4.7
HS A A HAET -4.9 -5.2 -5.0
EEXE =R -3.1 -1.6 -27
FEZEE = HET 0.9 —4.1 -0.8
FAE ER I SAHT -4.4 -4.0 -4.3
HEEERANEE B ET -1.7 -4.8 -27
HEE A AHET -4.7 —4.7
EEE FEF.N:) -5.3 -5.1 -5.2
BT AT -3.4 -4.4 -3.7
EN N -2.6 -2.1 -5.4 -2.5




2014(H26)ih {4 7=

EEH [EhREAH PEER | TEH | 24K
Il -2.9 -1.1 -5.4 -2.4
BRI -2.9 -2.1 -2.7
BA™H -4.2 -4.3 -4.2
HEHT -4.8 -5.0 -4.9
fH¥hth -5.6 -4.3 -5.0
B3O -1.4 -5.3 2.7
HEh -3.7 -3.3 -35
oJlh -45 -5.2 -4.8
aHH —0.6 -1.4 -0.8
gt -3.2 -2.5 -5.4 -3.0
{FERER D HEHT -2.8 -3.7 -3.1
{FERER AL EE LLI BT -3.3 -5.5 -4.0
FERAR = Er BT —6.5 —6.5
A HERZ X —6.0 —6.2 —6.0
EHEEH)IIE -2.6 0.0 -1.7
HSAREEHT -5.1 -5.5 -5.2
HS A AT -5.1 —6.5 -55
HS A A HAET -5.0 -5.3 —5.1
EEE Ti=Ra: -4.0 -3.0 -3.8
FEZEE = HET -0.9 -5.2 -2.3
FAE ER I SAHT -5.0 -5.2 -5.0
HEEERANEE B ET -3.2 -5.1 -4.2
HEE A AHET -5.9 -5.9
EEE FEF.N:) -7.0 —6.0 —6.6
BT AT -4.5 -4.8 -4.6
EN N -3.5 -3.0 -5.4 -3.4




2013(H25)h{f 4\ 7=

EEH [EhREAH PEER | TEH | 24K

eI -3.9 -4.9 -2.7 -7.2 -3.7

BmrEath -4.0 -2.7 -3.6
BARTH -4.2 -45 -4.4
HEHT -6.6 -5.3 —6.1

fH¥hth —6.7 -5.5 —6.2
B3O -3.1 —6.4 -4.0
HEh -9.0 —6.9 -7.9
oJlh -6.3 -7.3 —6.7

aHH -2.2 -2.6 -23
gt -4.4 -4.9 -3.9 -7.2 -4.3
{FERER D HEHT -2.7 -3.8 -3.1

{FERER AL EE LLI BT -2.3 -4.0 -2.8
FERAR = Er BT -5.9 -5.9
A HERZ X —6.3 -6.3 —6.3
EHEEH)IIE -5.7 -5.1 -5.4
HSAREEHT -5.5 —6.2 -5.7

HS A AT -5.0 —7.1 -5.7

HS A A HAET -5.5 —6.3 -5.9
EEE Ti=Ra: -4.3 -4.3 -4.3
FEZEE = HET -2.5 —6.0 -3.6
FAE ER I SAHT -5.5 —6.8 -5.9
HEEERANEE B ET -8.3 -10.6 -9.0
HEE A AHET -9.4 04
EEE FEF.N:) -9.7 -9.2 -95
BT AT -5.6 —6.2 -5.8
EN N -4.7 -4.9 -4.4 -7.2 -4.7




